ECE 1270
Su 08 HOMEWORK #6 solution it

EXx:

56V j) 7Q 15Q 30v<j>

Choose a reference node and use the node-voltage method to the remaining
node voltages.

SoL'N: Node \)o'L‘\:aﬂ es shift up or dewn, o‘-ePeno{Lha
on  which nede 1s c¢hosen as the reference
node. The cholee Ls Ctrb'l-bmry. Htrwe_j

the reference node wull e below +he
750 vresiLstor.
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vy = 6V

We find +that v, and va are known values,
owung o the W6V and 30V ssurdes dannecﬂEeA
n series +o +he reference node, (with no
series resistors).

We have onLy the V, hode +o sslve Jor.
The summation of currents out of +the
Vi node yields +the Jollowing egh:

Vi“’SGV + V, +4A = OA
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Note: The First +term of the current
summation is Found oy stiALnﬂ +the
200 restster +hru +the 56V surde.
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The durrent U ig the game n
bsth direuita.

L= Vv, — 56V
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Re-tm-r\-w\ﬂ to *he eﬁfn Lor V,, we arouF
Jtoae'tln er +the +termsa mulL] ply ‘mﬂ v,
and move donhstants +to ‘the ri,ch: side -

V1<\ +l)=‘3&>\/—-'+A
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Mu\-‘:iFLthrj beth  sides \oy 2\ yie[d‘s
the {-oL[owlncj:

vi (1+3) = 56V - 21q(4a) = S0V - sy

or
Vi = —28v =-7Vy
T
Nete: The durrepts 'Fiowl,nc} out of e V, hede
are ~3A 4o the Ie—F-EJ -1 A alauun) andl
HA 4o +he right, The sum s zero, v



